ARAB JOURNAL OF MATHEMATICAL SCIENCES



Some explicit and recursive formulas of the large and little Schröder numbers

FENG QI^{a,b,c,*}, BAI-NI GUO^d

^a Institute of Mathematics, Henan Polytechnic University, Jiaozuo City, Henan Province, 454010, China ^b College of Mathematics, Inner Mongolia University for Nationalities, Tongliao City, Inner Mongolia Autonomous Region, 028043, China

^c Department of Mathematics, College of Science, Tianjin Polytechnic University, Tianjin City, 300387, China ^d School of Mathematics and Informatics, Henan Polytechnic University, Jiaozuo City, Henan Province, 454010, China

> Received 4 April 2016; accepted 13 June 2016 Available online 21 June 2016

Abstract. In the paper, the authors analytically find some explicit formulas and recursive formulas for the large and little Schröder numbers.

2010 Mathematics Subject Classification: primary 11Y55; secondary 05A15; 11B83; 11R33; 26A48; 30E20; 44A10; 44A15

Keywords: Explicit formula; Recursive formula; Schröder number; Generating function

1. INTRODUCTION

In combinatorics and number theory, there are two kinds of Schröder numbers, the large Schröder numbers S_n and the little Schröder numbers s_n . They are named after the German mathematician Ernst Schröder.

A large Schröder number S_n describes the number of paths from the southwest corner (0,0) of an $n \times n$ grid to the northeast corner (n, n), using only single steps north, northeast, or east, that do not rise above the southwest–northeast diagonal. The first eleven large Schröder

Peer review under responsibility of King Saud University.



Production and hosting by Elsevier

http://dx.doi.org/10.1016/j.ajmsc.2016.06.002

^{*} Corresponding author at: Institute of Mathematics, Henan Polytechnic University, Jiaozuo City, Henan Province, 454010, China.

E-mail addresses: qifeng618@gmail.com, qifeng618@hotmail.com, qifeng618@qq.com (F. Qi), bai.ni.guo@gmail.com, bai.ni.guo@hotmail.com (B.-N. Guo). *URL:* https://qifeng618.wordpress.com (F. Qi).

^{1319-5166 © 2016} The Authors. Production and Hosting by Elsevier B.V. on behalf of King Saud University. This is an open access article under the CC BY-NC-ND license (http://creativecommons.org/licenses/by-nc-nd/4.0/).

numbers S_n for $0 \le n \le 10$ are

1, 2, 6, 22, 90, 394, 1806, 8558, 41586, 206098, 1037718.

In [1, Theorem 8.5.7], it was proved that the large Schröder numbers S_n have the generating function

$$G(x) = \frac{1 - x - \sqrt{x^2 - 6x + 1}}{2x} = \sum_{n=0}^{\infty} S_n x^n,$$
(1)

which can also be rearranged as

$$\mathcal{G}(x) = G(-x) = \frac{\sqrt{x^2 + 6x + 1} - 1 - x}{2x} = \sum_{n=0}^{\infty} (-1)^n S_n x^n.$$
⁽²⁾

The little Schröder numbers s_n form an integer sequence that can be used to count the number of plane trees with a given set of leaves, the number of ways of inserting parentheses into a sequence, and the number of ways of dissecting a convex polygon into smaller polygons by inserting diagonals. The first eleven little Schröder numbers s_n for $1 \le n \le 11$ are

 $1, \quad 1, \quad 3, \quad 11, \quad 45, \quad 197, \quad 903, \quad 4279, \quad 20793, \quad 103049, \quad 518859.$

They are also called the small Schröder numbers, the Schröder–Hipparchus numbers, or the Schröder numbers, after Ernst Schröder and the ancient Greek mathematician Hipparchus who appears from evidence in Plutarch to have known of these numbers. They are also called the super-Catalan numbers, after Eugéne Charles Catalan, but different from a generalization of the Catalan numbers [2,10]. In [1, Theorem 8.5.6], it was proved that the little Schröder numbers s_n have the generating function

$$g(x) = \frac{1 + x - \sqrt{x^2 - 6x + 1}}{4} = \sum_{n=1}^{\infty} s_n x^n.$$
(3)

For more information on the large Schröder numbers S_n and the little Schröder numbers s_n , please refer to [1,7–9] and plenty of references therein.

Comparing (1) with (3), we can reveal

$$\sqrt{x^2 - 6x + 1} = 1 + x - 4\sum_{n=1}^{\infty} s_n x^n = 1 - x - 2\sum_{n=0}^{\infty} S_n x^{n+1},$$

that is,

$$1 - 2\sum_{n=1}^{\infty} s_n x^{n-1} = 1 - 2\sum_{n=0}^{\infty} s_{n+1} x^n = -\sum_{n=0}^{\infty} S_n x^n.$$

Accordingly, we acquire

$$S_n = 2s_{n+1}, \quad n \in \mathbb{N}. \tag{4}$$

See also [1, Corollary 8.5.8]. This relation tells us that it is sufficient to analytically study the large Schröder numbers S_n .

Recently, in the paper [3] and the preprints [4–6], some new conclusions, including several explicit formulas, integral representations, and some properties such as the convexity,

complete monotonicity, product inequalities, and determinantal inequalities, for the large and little Schröder numbers S_n and s_{n+1} were discovered. Some of them can be reformulated as follows.

Theorem 1 ([3, Theorem 1] and [6, Theorem 1]). For $n \in \mathbb{N}$, the large and little Schröder numbers S_n and s_{n+1} can be computed by

$$S_n = 2s_{n+1} = \frac{(-1)^{n+1}}{12} \frac{1}{6^n} \sum_{k=1}^{n+1} (-1)^k \frac{6^{2k}}{k!} \frac{(2k-3)!!}{2^k} \binom{k}{n-k+1},$$

where $\binom{p}{q} = 0$ for $q > p \ge 0$.

Theorem 2 ([4, Theorem 1.1]). For $n \ge 0$, the large and little Schröder numbers S_n and s_{n+1} can be represented by

$$S_n = 2s_{n+1} = \frac{1}{2\pi} \int_{3-2\sqrt{2}}^{3+2\sqrt{2}} \frac{\sqrt{(u-3+2\sqrt{2})(3+2\sqrt{2}-u)}}{u^{n+2}} \,\mathrm{d}\,u.$$

Theorem 3 ([5]). For $n \ge 0$, the sequences S_n , s_{n+1} , $(n + 1)!S_n$, and $(n + 1)!s_{n+1}$ are convex. For $n \ge 0$, the sequence $n!S_n$ is logarithmically convex.

The main aims of this paper are to analytically find two new explicit formulas and two recursive formulas for the large and little Schröder numbers S_n and s_n respectively. Our main results can be stated as the following theorems.

Theorem 4. For $n \in \mathbb{N}$, the large and little Schröder numbers S_n and s_{n+1} can be computed by

$$S_n = 2s_{n+1} = -\frac{\left(3 \pm 2\sqrt{2}\right)^{n+1}}{2} \sum_{\ell=0}^{n+1} \frac{(2\ell-3)!!}{(2\ell)!!} \frac{[2(n-\ell+1)-3]!!}{[2(n-\ell+1)]!!} \left(3 \pm 2\sqrt{2}\right)^{2\ell}.$$
(5)

Remark 1. Since

$$3 \pm 2\sqrt{2} = (\sqrt{2} + 1)^{\pm 2} = (\sqrt{2} - 1)^{\pm 2}$$

and

$$17 \pm 12\sqrt{2} = (\sqrt{2} + 1)^{\pm 4} = (\sqrt{2} - 1)^{\mp 4},$$

the explicit formulas in (5) can be reformulated as

$$S_n = 2s_{n+1} = -\frac{\left(\sqrt{2}-1\right)^{\pm 2(n+1)}}{2} \sum_{\ell=0}^{n+1} \frac{(2\ell-3)!!}{(2\ell)!!} \frac{[2(n-\ell+1)-3]!!}{[2(n-\ell+1)]!!} \left(\sqrt{2}+1\right)^{\pm 4\ell},$$

F. Qi, B.-N. Guo

$$S_n = 2s_{n+1} = -\frac{\left(\sqrt{2}+1\right)^{\pm 2(n+1)}}{2} \sum_{\ell=0}^{n+1} \frac{(2\ell-3)!!}{(2\ell)!!} \frac{\left[2(n-\ell+1)-3\right]!!}{\left[2(n-\ell+1)\right]!!} \left(\sqrt{2}+1\right)^{\pm 4\ell},$$

$$S_n = 2s_{n+1} = -\frac{\left(\sqrt{2}-1\right)^{\pm 2(n+1)}}{2} \sum_{\ell=0}^{n+1} \frac{(2\ell-3)!!}{(2\ell)!!} \frac{\left[2(n-\ell+1)-3\right]!!}{\left[2(n-\ell+1)\right]!!} \left(\sqrt{2}-1\right)^{\pm 4\ell},$$

and

$$S_n = 2s_{n+1} = -\frac{\left(\sqrt{2}+1\right)^{\pm 2(n+1)}}{2} \sum_{\ell=0}^{n+1} \frac{(2\ell-3)!!}{(2\ell)!!} \frac{[2(n-\ell+1)-3]!!}{[2(n-\ell+1)]!!} \left(\sqrt{2}-1\right)^{\pm 4\ell}.$$

Theorem 5. For $n \ge 0$, the large and little Schröder numbers S_n and s_{n+1} satisfy the recursive formulas

$$S_{n+3} = 3S_{n+2} + \sum_{\ell=0}^{n} S_{\ell+1} S_{n-\ell+1}$$
(6)

and

$$s_{n+4} = 3s_{n+3} + 2\sum_{\ell=0}^{n} s_{\ell+2}s_{n-\ell+2}.$$
(7)

2. PROOFS OF THEOREMS 4 AND 5

Now we are in a position to prove our main results.

Proof of Theorem 4. From (2), it follows that

$$\sqrt{x^2 + 6x + 1} = 1 + x + 2\sum_{n=0}^{\infty} (-1)^n S_n x^{n+1} = 1 + 2x + 2\sum_{n=2}^{\infty} (-1)^{n-1} S_{n-1} x^n$$

which implies that, for $n \geq 2$,

$$2(-1)^{n-1}n!S_{n-1} = \lim_{x \to 0} \left[\sqrt{x^2 + 6x + 1}\right]^{(n)}$$

= $\lim_{x \to 0} \left[\sqrt{(x+3+2\sqrt{2})(x+3-2\sqrt{2})}\right]^{(n)}$
= $\lim_{x \to 0} \left(\sqrt{x+3+2\sqrt{2}}\sqrt{x+3-2\sqrt{2}}\right)^{(n)}$
= $\lim_{x \to 0} \sum_{\ell=0}^n \binom{n}{\ell} \left(\sqrt{x+3+2\sqrt{2}}\right)^{(\ell)} \left(\sqrt{x+3-2\sqrt{2}}\right)^{(n-\ell)}$

Some explicit and recursive formulas of the large and little Schröder numbers

$$\begin{split} &= \lim_{x \to 0} \sum_{\ell=0}^{n} \binom{n}{\ell} \left\langle \frac{1}{2} \right\rangle_{\ell} \left(x + 3 + 2\sqrt{2} \right)^{1/2-\ell} \left\langle \frac{1}{2} \right\rangle_{n-\ell} \left(x + 3 - 2\sqrt{2} \right)^{1/2-n+\ell} \\ &= \lim_{x \to 0} \frac{\sqrt{x^2 + 6x + 1}}{\left(x + 3 - 2\sqrt{2} \right)^n} \sum_{\ell=0}^{n} \binom{n}{\ell} \left\langle \frac{1}{2} \right\rangle_{\ell} \left\langle \frac{1}{2} \right\rangle_{n-\ell} \left(\frac{x + 3 - 2\sqrt{2}}{x + 3 + 2\sqrt{2}} \right)^{\ell} \\ &= \frac{(-1)^n}{\left(3 - 2\sqrt{2} \right)^n} \sum_{\ell=0}^{n} \binom{n}{\ell} \frac{(2\ell - 3)!!}{2^\ell} \frac{[2(n-\ell) - 3]!!}{2^{n-\ell}} \left(\frac{3 - 2\sqrt{2}}{3 + 2\sqrt{2}} \right)^{\ell} \\ &= \frac{(-1)^n}{\left(3 - 2\sqrt{2} \right)^n} \sum_{\ell=0}^{n} \frac{n!}{\ell!(n-\ell)!} \frac{(2\ell - 3)!!}{2^\ell} \frac{[2(n-\ell) - 3]!!}{2^{n-\ell}} \left(\frac{3 - 2\sqrt{2}}{3 + 2\sqrt{2}} \right)^{\ell} \\ &= \frac{(-1)^n n!}{\left(3 - 2\sqrt{2} \right)^n} \sum_{\ell=0}^{n} \frac{(2\ell - 3)!!}{(2\ell)!!} \frac{[2(n-\ell) - 3]!!}{[2(n-\ell)]!!} (17 - 12\sqrt{2})^\ell. \end{split}$$

Therefore, we obtain

$$S_{n-1} = -\frac{1}{2(3-2\sqrt{2})^n} \sum_{\ell=0}^n \frac{(2\ell-3)!!}{(2\ell)!!} \frac{[2(n-\ell)-3]!!}{[2(n-\ell)]!!} (17-12\sqrt{2})^\ell, \quad n \ge 2.$$

Similarly, we have

$$2(-1)^{n-1}n!S_{n-1} = \lim_{x\to 0} \left[\sqrt{x^2+6x+1}\right]^{(n)}$$

$$= \lim_{x\to 0} \left[\sqrt{(x+3-2\sqrt{2})(x+3+2\sqrt{2})}\right]^{(n)}$$

$$= \lim_{x\to 0} \left(\sqrt{x+3-2\sqrt{2}}\sqrt{x+3+2\sqrt{2}}\right)^{(n)}$$

$$= \lim_{x\to 0} \sum_{\ell=0}^n \binom{n}{\ell} \left(\sqrt{x+3-2\sqrt{2}}\right)^{(\ell)} \left(\sqrt{x+3+2\sqrt{2}}\right)^{(n-\ell)}$$

$$= \lim_{x\to 0} \sum_{\ell=0}^n \binom{n}{\ell} \left\langle\frac{1}{2}\right\rangle_{\ell} (x+3-2\sqrt{2})^{1/2-\ell} \left\langle\frac{1}{2}\right\rangle_{n-\ell} (x+3+2\sqrt{2})^{1/2-n+\ell}$$

$$= \lim_{x\to 0} \frac{\sqrt{x^2+6x+1}}{(x+3+2\sqrt{2})^n} \sum_{\ell=0}^n \binom{n}{\ell} \left\langle\frac{1}{2}\right\rangle_{\ell} \left\langle\frac{1}{2}\right\rangle_{n-\ell} \left(\frac{x+3+2\sqrt{2}}{x+3-2\sqrt{2}}\right)^{\ell}$$

$$= \frac{(-1)^n}{(3+2\sqrt{2})^n} \sum_{\ell=0}^n \binom{n!}{\ell!(n-\ell)!} \frac{(2\ell-3)!!}{2^\ell} \frac{[2(n-\ell)-3]!!}{2^{n-\ell}} \left(\frac{3+2\sqrt{2}}{3-2\sqrt{2}}\right)^{\ell}$$

$$= \frac{(-1)^n n!}{(3+2\sqrt{2})^n} \sum_{\ell=0}^n \frac{(2\ell-3)!!}{(2\ell)!!} \frac{[2(n-\ell)-3]!!}{[2(n-\ell)]!!} (17+12\sqrt{2})^{\ell}.$$

Therefore, we obtain

$$S_{n-1} = -\frac{1}{2(3+2\sqrt{2})^n} \sum_{\ell=0}^n \frac{(2\ell-3)!!}{(2\ell)!!} \frac{[2(n-\ell)-3]!!}{[2(n-\ell)]!!} (17+12\sqrt{2})^\ell, \quad n \ge 2.$$

The proof of Theorem 4 is complete. \Box

Proof of Theorem 5. From (1), it follows that

$$\sqrt{x^2 - 6x + 1} = 1 - x - 2\sum_{n=1}^{\infty} S_{n-1}x^n = 1 - 3x - 2\sum_{n=2}^{\infty} S_{n-1}x^n.$$

Squaring on both sides of the above equation yields

$$\begin{split} x^{2} - 6x + 1 &= \left(1 - 3x - 2\sum_{n=2}^{\infty} S_{n-1} x^{n}\right)^{2} \\ &= (1 - 3x)^{2} - 4(1 - 3x)\sum_{n=2}^{\infty} S_{n-1} x^{n} + 4\left(\sum_{n=2}^{\infty} S_{n-1} x^{n}\right)^{2}, \\ &= 1 - 6x + 9x^{2} - 4(1 - 3x)\sum_{n=2}^{\infty} S_{n-1} x^{n} + 4\left(\sum_{n=2}^{\infty} S_{n-1} x^{n}\right)^{2}, \\ 0 &= 2x^{2} - (1 - 3x)\sum_{n=2}^{\infty} S_{n-1} x^{n} + \left(\sum_{n=2}^{\infty} S_{n-1} x^{n}\right)^{2}, \\ 0 &= -\sum_{n=3}^{\infty} (S_{n-1} - 3S_{n-2})x^{n} + x^{4} \left(\sum_{n=0}^{\infty} S_{n+1} x^{n}\right)^{2}, \\ 0 &= -\sum_{n=3}^{\infty} (S_{n-1} - 3S_{n-2})x^{n} + x^{4} \sum_{n=0}^{\infty} \left[\sum_{\ell=0}^{n} S_{\ell+1} S_{n-\ell+1}\right] x^{n}, \\ 0 &= -\sum_{n=3}^{\infty} (S_{n-1} - 3S_{n-2})x^{n} + \sum_{n=4}^{\infty} \left[\sum_{\ell=0}^{n-4} S_{\ell+1} S_{n-\ell-3}\right] x^{n}, \\ 0 &= -(S_{2} - 3S_{1})x^{3} + \sum_{n=4}^{\infty} \left[3S_{n-2} - S_{n-1} + \sum_{\ell=0}^{n-4} S_{\ell+1} S_{n-\ell-3}\right] x^{n}, \\ 3S_{n-2} - S_{n-1} + \sum_{\ell=0}^{n-4} S_{\ell+1} S_{n-\ell-3} = 0. \end{split}$$

Replacing n by n + 4 in the last equality and simplifying immediately lead to the recursive formula (6).

Making use of the relation (4) in (6) gives the recursive formula (7) readily. The proof of Theorem 5 is thus complete. \Box

Remark 2. This paper is a companion of the paper [3] and the preprints [4-6].

REFERENCES

- [1] R.A. Brualdi, Introductory Combinatorics, fifth ed., Pearson Prentice Hall, Upper Saddle River, NJ, 2010.
- [2] F. Qi, Some properties and generalizations of the Catalan, Fuss, and Fuss–Catalan numbers, ResearchGate Research (2015) available online at http://dx.doi.org/10.13140/RG.2.1.1778.3128.
- [3] F. Qi, X.-T. Shi, B.-N. Guo, Two explicit formulas of the Schröder numbers, Integers 16 (2016). Paper No. A23, 15 pages.

- [4] F. Qi, X.-T. Shi, B.-N. Guo, Integral representations of the large and little Schröder numbers, ResearchGate Working Paper (2016), available online at http://dx.doi.org/10.13140/RG.2.1.1988.3288.
- [5] F. Qi, X.-T. Shi, B.-N. Guo, Some properties of the Schröder numbers, ResearchGate Working Paper (2016), available online at http://dx.doi.org/10.13140/RG.2.1.4727.7686.
- [6] F. Qi, X.-T. Shi, B.-N. Guo, Two explicit formulas of the Schröder numbers, ResearchGate Working Paper (2016), available online at http://dx.doi.org/10.13140/RG.2.1.2676.3283.
- [7] N.J.A. Sloane, Large Schröder numbers, From The On-Line Encyclopedia of Integer Sequences; Available online at http://oeis.org/A006318.
- [8] N.J.A. Sloane, Schroeder's second problem. From The On-Line Encyclopedia of Integer Sequences; Available online at https://oeis.org/A001003.
- [9] R. Stanley, E.W. Weisstein, Schröder number, http://mathworld.wolfram.com/SchröderNumber.html.
- [10] Wikipedia, Catalan number, From the Free Encyclopedia; Available online at https://en.wikipedia.org/wiki/ Catalan_number.